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Seat No.: ________                                                           Enrolment No.___________ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER–I&II • EXAMINATION – WINTER • 2014 

Subject Code: 320008 Date: 19-12-2014        

Subject Name: Mechanical Drafting 

Time: 10:30 am - 01:30 pm Total Marks: 70 
Instructions: 

1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks.  

4. English version is considered to be Authentic. 

Q.1 (a) A cylinder 40 mm diameter and 50 mm axis is resting on one point of a base 

circle on H.P. while its axis makes 450 with H.P. and plan of the axis 350 with 

VP. Draw the projections. 

07 

 (b) Fig-1 shows Pictorial view of an object. Draw it's following view. Assume 1st 

Angle Projection Method. (i)Front View looking in direction of arrow X. 

(ii)Top view and (iii)Left hand Side view. 

07 

Q.2 (a) A regular Pentagonal pyramid having 30 mm sides of base and 60 mm height, 

is resting on the H.P.  on one of its edges of the base, so that its axis makes an 

angle of 300 with the H.P.  Draw the projections of that pyramid. 

07 

 (b) Fig-2 shows Pictorial view of an object. Draw it's following view. Assume 1st 

Angle Projection Method. (i)Sectional Front View-MN -looking in direction of 

arrow X. (ii) Top view and (iii) Left hand Side view. 

07 

  OR  

 (b) A cylinder of 60 mm diameter and axis 80 mm long is standing on its base on 

the H.P. It is cut by a Section plane, which makes an angle of 450 to H.P. and 

passing through a point on its axis 25 mm below the top-base. Draw F.V. 

sectional top view and true shape of section. 

07 

    
Q.3 (a) A pentagonal pyramid having base sides 40mm and 80mm height is standing on 

the H.P. such that one of its base sides is parallel to V.P. A section plane 

making an angle of 450 to H.P. and passing through the mid point of axis of the 

pyramid is cutting this pyramid. Draw the sectional top view and true shape of 

the section. 

07 

 (b) Draw the development of lateral surfaces P for hexagonal prism in Fig. 3. 07 

  OR  

Q.3 (a) A vertical cylinder, diameter 40mm and height 80mm is resting on H.P.  It is 

penetrated by another cylinder diameter 30mm and height 80mm. The axes of 

both cylinders are parallel to V.P. and bisects to each other at right angles. 

Draw the projections showing lines of intersections. 

07 

 (b) Draw the development of lateral surfaces Q for cylinder shown in Fig. 4. 07 

    
Q.4 (a) A square pipe having 40mm base sides has similar branch pipe having 25mm 

base sides. Axis of the main pipe is vertical while the axis of the branch pipe 

intersects the axis of main pipe at angle of 450. Surfaces of both pipes are 

equally inclined to V.P. Draw projections and show lines of intersection. 

 

07 

 (b) List procedural steps of AutoCAD command (with its options) to draw Fig- 5 

in AutoCAD. 

07 

  OR  

Q. 4 (a) In a drawing fit is represented as 50 H9 c8. Draw the figure for fit and find 

following. 

07 
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1) Max. and Min. Limit for hole. 

2) Max. and Min. Limit for shaft. 

3) Tolerance on hole and shaft. 

4) Type of fit. 

IS-919 state following limits for 50 mm diameter in microns. 

 H9  c8 

Upper +74 -60 

Lower +0 -106 
 

 (b) Figure 6 shows the details of “Knuckle Joint”. Assemble the parts and draw 

Front view and Top view of assembly 

07 

Q.5 (a) Give the welding symbols for the following: 

1) Square Butt 

2) Fillet 

3) Spot 

4) Seam 

5)Plug 

6)Double V butt 

7) Double bevel butt 

07 

 (b) Illustrate the surface roughness symbol. 

1) A surface is to be Milled 

2) Roughness Value – 15 micron 

3) Sampling Length – 3.5 mm 

4) Direction of Lay – Parallel 

5) Machining Allowance – 2.0  mm 

07 

  OR  

Q.5 (a) Draw symbols  of the following  pipe fitting  

(1)Joint, (2) Reducer , (3) Gate valve , (4) Globe valve, 

(5) Stop cock, (6) Union , (7) Safety valve 

07 

 (b) Explain following AutoCAD commands with it’s uses : 

(1)Ellipse, (2) Polygon, (3) 3 point Circle, 

(4) Mirror , (5) Offset , (6) Trim , (7) Chamfer 

07 
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ગજુરાતી 
પ્રશ્ન. ૧ અ એક નળાકારનો પાયાનો વ્યાસ 40 mm તથા ઉંચાઇ 50 mm તેના પરરઘના 

કોઇએક બ િંદુ પર H.P. માાં પડેલો છે. તેની અક્ષ H.P. સાથે 450 નો ખણૂો  નાવે 
છે તથા અક્ષ નો પ્લાન V.P. સાથે 350 નો ખણૂો  નાવે છે તો નળાકારના 
પ્રક્ષેપો દોરો. 

૦૭ 

 બ આકૃતત-1 માાં પદાથથનો બચત્રમય દેખાવ દર્ાથવેલ છે. પ્રથમ કોણીય પ્રક્ષેપણ ની 
મદદથી નીચેના દેખાવો દોરો. (i) X – રદર્ામાાં જોતા સામેનો દેખાવ. 

(ii)ઉપરનો દેખાવ  (iii) ડા ી  ાજુનો દેખાવ. 

૦૭ 

પ્રશ્ન. ૨ અ એક તનયમીત પાંચકોબણય તપરામીડ, જેની તબળયાની  ાજુઓ ૩૦ mm અને 
ઉંચાઇ 60 mm છે, તે H.P. પર તેની એક તબળયાની  ાજુ પર એવી રીતે ઉભો 
છે કે જેથી તપરાતમડ ની ધરી(અક્ષ) H.P. સાથે 300  નો ખણૂો  નાવે છે. તો તે 
તપરામીડ ના પ્રક્ષેપો દોરો. 

૦૭ 

 બ આકૃતત-૨ માાં પદાથથનો બચત્રમય દેખાવ દર્ાથવેલ છે.પ્રથમ કોણીય પ્રક્ષેપણ ની 
મદદ થી નીચેના દેખાવો દોરો.  (i) X – રદર્ાાઁમાાં જોતા છેદાત્મક સામેનો     
દેખાવ MN (ii) ઉપરનો દેખાવ (iii) ડા ી  ાજુનો દેખાવ. 

૦૭ 

  અથવા  

 બ 60 mm વ્યાસ અને 80 mm ધરી વાળા H.P.માાં તેના પાયા પર ઉભેલા નળાકાર 
ને આડી સપાટી સાથે 450 નો ખણુો  નાવી મથાળા થી 25 mm નીચેના ધરી 
પર ના બ ન્દુ માાંથી પસાર થતી સપાટી કાપે છે.તેનો સામેનો દેખાવ,ઉપરનો 
છેદ વાળો દેખાવ અને છેદ નો ખરો આકાર દોરો. 

૦૭ 

પ્રશ્ન. ૩ અ એક 40mm  ાજુવાળો અને 80 mm ઉંચાઇની ધરીવાળો પાંચકોણીય તપરામીડ 
તેના પાયા ઉપર H.P. માાં એવી રીતે ઉભો છે જેથી પાયાની કોઇ એક  ાજુ V.P. 
ને સમાાંતર રહ.ે H.P. સાથે 450 ખણૂો  નાવત ુ તપરામીડની ધરી ને મધ્યબ િંદુ 
માાંથી પસાર થત ુ કરટિંગ પ્લેન પીરાતમડને કાપે છે, તો સેક્ર્નલ પ્લાન અને 
સેક્ર્ન નો સાચો આકાર દોરો. 

૦૭ 

 બ આક્રુતત-૩માાં દર્ાથવેલ કપાયેલ ષટકોબણય તપ્રઝમના પાટથ  P નો તવસ્તાર દોરો. ૦૭ 

  અથવા  

પ્રશ્ન. ૩ અ એક 40mm વ્યાસ અને  80mm ઉચાઇ નો નળાકાર H.P. માાં તેના પાયા પર ઉભો 
છે. તેને એક 30mm વ્યાસ અને 80mm ઉચાઇનો આડો નળાકાર એવી રીતે છેદે 
છે કે  ને્નના અક્ષ એક ીજા ને કાટખણેૂ દુભાગે છે.  ને્નનાાં અક્ષ V.P. ને સમાાંતર 
છે. આ ઘનોનાાં આંતરછેદની રેખાઓ દર્ાથવતાાં પ્રક્ષેપો દોરો. 

૦૭ 

 બ આક્રુતત-4માાં દર્ાથવેલ કપાયેલ નળાકાર ના પાટથ  Q નો તવસ્તાર દોરો. ૦૭ 

પ્રશ્ન. ૪ અ  40mm  ાજુ ધરાવતી ચોરસ પાઇપને 25mm  ાજુ ધરાવતી તેના જેવી બ્ાાંચ 
પાઇપ છે. મખુ્ય પાઇપની ધરી ઉભી છે જ્યારે બ્ાાંચ પાઇપની ધરી મખુ્ય 
પાઇપની ધરીને 450 ને ખણૂે છેદે છે.  ાંને્ન પાઇપોની સપાટીઓ ઉભી સપાટી 

૦૭ 
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સાથે સરખા ખણૂા  નાવે છે તેનાાં પ્રોજેક્ર્નો દોરો અને ઇન્ટરસેક્ષનની લાઇન 
દોરો. 

 બ ઓટોકેડ માાં આકૃતત 5 દોરવા માટેની ઓટોકેડના કમાાંડ(તેનાાં ઓપ્ર્ન સાથે) ની 
પ્રોસીઝરના પગથીંયા લખો. 

૦૭ 

  અથવા  

પ્રશ્ન. ૪ અ ડ્રોઇંગમાાં ફીટને 50 H9 c8  વડે દર્ાથવવામાાં આવેલ છે. ફીટની આકૃતત દોરો અને 
નીચે પ્રમાણે ર્ોધો 
1) હોલની વધારેમાાં વધારે તથા ઓછામાાં ઓછી લીમીટ  
2) ર્ાફ્ટની વધમુાાં વધ ુતથા ઓછામાાં ઓછી લીમીટ. 

3) હોલ તથા ર્ાફ્ટ માટેનો ટોલરાંસ. 

4) ફીટનો પ્રકાર. 
IS-919 માાંથી તવગતો 50mm વ્યાસ માટે તવચલન માઇક્રોનમાાં નીચેદર્ાથવેલ છે: 
 H9  c8 

અપર +74 -60 

લોઅર +0 -106 
 

૦૭ 

 બ આકૃતત 6 માાં નકલ જોઇંટના છુટા ભાગો દર્ાથવેલ છે, તેને યોગ્ય રીતે જોડી , 
એસેમ્ લીના સામેનો દેખાવ અને ઉપરના દેખાવ દોરો. 

૦૭ 

પ્રશ્ન. ૫ અ નીચેની વેલ્ડિંગ સાંજ્ઞા દોરો:  
(1) સ્ક્વેર  ટ              (5) પ્લગ      

(2) ફીલેટ                     (6)ડ લ વી  ટ      

(3) સ્પોટ                      (7) ડ લ  ેવેલ  ટ 

(4) સીમ 

૦૭ 

 બ નીચે આપેલ તવગત સરફેર્ રફનેર્ની સાંજ્ઞા દોરી તેના પર દર્ાથવો.. 
1) સરફેસ  નાવવાની પ્રરક્રયા : તમબલિંગ 

2) સરફેસ રફનેર્ બલતમટ : 15 માઇક્રોન 

3) સેમ્પબલિંગ લમ્ ાઇ : 3.5 મી.મી. 
4) મર્ીનીંગ એલાઉંસ : 2.0 મી.મી.    
5) લે ની રદર્ા : સમાાંતર 

૦૭ 

  અથવા  

પ્રશ્ન. ૫ અ નીચેની પાઇપ ફીરટિંગ માટેની સાંજ્ઞા બચન્હ દોરો. 
(1)જોઇંટ , (2) રીડયસુર , (3) ગેટ વા્વ , (4) ગ્લો  વા્વ, 

(5) સ્ટોપ કોક, (6) યતુનયન , (7) સેફટી વા્વ 

૦૭ 

 બ નીચે દર્ાથવેલ ઓટોકેડ કમાાંડ તેના ઉપયોગ સાથે સમજાવો.: 
(1)ઇલીપ્સ, (2)પોબલગોન, (3) 3 પોઇંટ સકથલ, 

(4) મીરર , (5) ઓફસેટ , (6) ટ્રીમ , (7) ચેમ્ફર 

૦૭ 
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